- 173— = OKNO

IIIIIIIII
AN TTTTITTT]
ATTITTTTTITTTT]

ATTTIHTITTTTTT]

AT T T TT I TTTTTTTT]

(T T T T T T I T TTTITTT]
[TTTTTTITTTTTTTT]
[ [T TTTTIHTITTITTT 1]
[TTTTTTTTITITITITTI 1]
[TTTTTTIHTITITITITITT ] b
[TT T T T T T TI T T T I T T T I T T I I TTTITITITT]
[T T T T T T I I T T T T T T I T T T T I T T T T TTT]
[TT T T T T T TI T T T I T T T I T T I I TTTITITITT]
[TT T T T T I T T T T T T T T T T T T I T T T T TTT]
ATT T T T T T [ TTTTTTTTITT T T T T T T T T 1]
AT TTTTTTTIH I T T T T T T T T T T T TTTITTTTT]
AN T T T T T T T T T T T T T T T T T T T T T T T T TTTITTT]
AT T T T T T T T T T T T I T T T T T T T T T T T T T T T T T TTT]
[TT T T T T T I T T I T T [ I T T T T T T TTITTTITTITI I T TTT]
[T T T T T T T T T I T T T T T T T T T T TITITTITITT 1]
[ TT T T T T T T I T T T [ I T T T T T T T T T TITITITI I T TTT]
[T T T T T T T T T I T T T T T T T T T T TITITTITITT 1]
[ TT T T T T T T T T T T T J T T T T T T T T T T TTTTTI T TTTT]
[T T T T T T I I T T I I T T T T T T T T TITTTITITTTT]
[ TTTTTTITTITITI I AT I T T T AT TTITITTITITITITTT]

6 N

DVERE

-




	Listy a pohledy
	Výkres1-Rozvržení2


